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Atoms and Ions
ATOM – An atom is NEUTRAL ( has an equal number of protons (+) and electrons (-)




*NO reaction has occurred – no compound or molecule formed

What’s the difference between these two models of Lithium? (hint look at # of protons, electrons, neutrons)
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IONS – Ions have a CHARGE ( because they have lost or gained an electron to form a molecule or compound.  Ions do not have equal numbers of protons (+) and electrons (-), and therefore have a charge.  
Negative Ions = ANIONS -


Positive Ions = CATIONS - 
Example:

An atom of  Sodium   Na




An ion of Sodium  Na+1



Ion Bohr Model: This is a Bohr model of the ion after the reaction, when the outer shell has gained or lost the necessary electrons to have a full (stable) outer shell.

1. Mg (Magnesium)





2.  F (Fluorine)
Atom Bohr:



Ion Bohr:

Atom Bohr:



Ion Bohr:

3. O (Oxygen)






4. Be (Beryllium)
Atom Bohr:


Ion Bohr:


Atom Bohr:


Ion Bohr:

Further practice: Indicate whether the following are atoms or ions and indicate the overall charge.

1.





2.


3.





4.

5.





6.

7. Draw the following ions without drawing the atom first. 
HINT:  Use the ion charge to help you.  Note: If the ion charge is positive (+), this means that electrons have been taken away.  If the ion charge is negative (-), this means that electrons have been added.

Nitrogen ion

Beryllium ion

Scandium ion 


Sulphur ion
Ions Chart

Use the periodic table to complete the following table of ions/atoms.

	Symbol
	Charge
	Atom/Ion
	Number of Protons
	Number of electrons

	F
	0
	
	
	

	Al+3
	+3
	
	
	

	C
	
	
	
	

	I-1
	
	
	
	

	Ar
	
	
	
	

	
	+2
	
	20
	

	
	0
	
	14
	

	
	-3
	
	7
	

	
	
	
	1
	1

	
	
	
	10
	10

	
	
	
	11
	10

	
	
	
	17
	18

	
	
	Atom
	2
	

	
	+3
	
	
	23

	
	
	
	92
	89


